Math 20 Quiz 2
Name: Date: 1/29/2014

Directions: Calculators are allowed. Show all your working! Use the back of the page if you run out of space.

Consider the definite integral

1 2x+ ldx

1. Find approximations to the area underneath this curve using n = 4 equal subintervals and:

(a) rectangles with their left-hand edges touching the curve (i.e., an “upper” sum);

(b) the trapezoidal rule;

(c) Simpson’s rule.
(Note: you can make me smile by drawing sketches of the areas calculated by each method above.)
2. The true area underneath the curve is approximately 3.89785. How could you improve each of your
approximations to this area from question 1?
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